i
T
iy
%lljll

1. ¥(854
kB4 KRBT WG | LI T8 At R TR A S S
BT T TUHR TR T - 22 e ~ FCBR T A P14 T I | LTS T i 5

2. EBNE

1) FHI4

2) BATHIM

AL IERE S5 AT TR ik

242 H [ H 4f1 74 3H 4H
AF1 T4E10A31H

3) wEtai

ARFEB T, RE W IL5E B K OSBRI IR ORISR G 3 2 VB R -0 AR R
ME RS 570, MERAELZITO L2 AMLTDEE TH D,

4) HBWE
A
AT 5 T

13

130

E Ly Est B R



ﬂEEB

HHN

Tl
P

=
=

¥BA | REE LB R H A ER HUE A
H A — A
HE - T - &5l B 7 % & & BN AR
— A =X 1 12,938, 912
[ERET R e 2V 1 9, 464, 978
A=V 7 X 1 6,306,660 | LZER—V 7 (/rarR—U v

7) 3 m
FEPEL - L B, BOmBL T, 801 T, ¢
116mm

TER—=V T () varr—1 v

7) 3 m
>« WYE A+, 50mEA R, $8TE T 7, ¢ 116m
m

TER—=V T () varr—1 v

7) 5.8 m
FEPEL - L B, BOmBL T, 88 T, ¢
86mm

TER—=V T rarTR—U v

7) 14.5 m
B U0 L/, 5omEL T, $71E. T 7, ¢ 86
mm

TER—=V T rarR—1 v

7) 1.4 m
EARLC Y 0, 50mbA T, $0E T, ¢
86mm

TER—V 7 (F—nar7TR—1

D 17.5 m
REMEL « L b, 50mBA T, SREL R, ¢
66mm

TER=V 7 F—arR—1

N 23.2 m
W e WE L, 50mPA T, #8018 F 7, ¢ 66mm

+TER—=V T (= aTR=V

-1- [E L7 THH TR



=
=

i
T
iy
%lljll

¥BA | REE LB R H A ER HUE A
H H — A
HE - T - f5 B 7 B & & fOB N AR
) 27 m
BEE TV 4, 50mEL T, $REL N, ¢ 66
mm
TER—=V 7 (F—narTr—1
) 39.9 m
AR LY TR, 5omLl T, g3 T 7, ¢
66mm
ERR—V T (= aTR—1
) 13.9 m

#CE, 50mEL T, $RIEC T 5, ¢ 66mm
EER—Y T (A= a7 R—

) 15 m
FREECE, 50mEA T, $R1E T 5, ¢ 66mm
VNN 5V 1 81,000 | m—Z V—X_"@EEV T T—
1 %N
n—4Y)—X=ZEE) L TT—
1 A
BT 4 7 ROVFALE R 2V 1 1,882,340 | fE#eE AGBR
8 [=]
b I o R
FEAET A BR
20 ]
W gL
FEAET A BR
53 ]
BERE TV b
FEAET A BR
38 ]
FEAHRLY £
FEHE ENGRER
10 5]
[Cs

-2 - E Ly Est B R



it
T

=
s

=
=

FEFA | RN B VR A S ER R A
H H — AR
HH - T - g H AL H o & AR R
R AR X 1 758,320 | kit DR
23 e
T DE KB
23 Bk
TR ERR (550
15 B
TR ERER (520 ik
8 Bk
T ORI TR
5 Bk
TR SR
5 B
T R TR
2 Bk
=HhERERER (CURER)
1 Bk
= EAERRER  (CDRRER)
1 Bk
oo AR
1 el
R Y 1 39,690 | JEARTRE R
1 e
71 95 5 i 5AR
1 e
BHERK
2 EaVig
A IRAT 2y 1 225,968 | fRATERA
1 N
TR R Y 1 151,000 | TR RAMIERE
1 X
e B % X 1 20,000 | fREH %
10 N
-3 - ES R R R e 2 W 4 Vo



PR N ERE

¥BA | REE LB R H A ER i HEL AR A
H H — xR A
THH - TR - FERBI B 7 % & 4 % OB N R
MR AR 2V 1 3,473, 934
TE =X 1 1,944,098 | TE{iE
1 =
TEE
1 =
TEE
1 2V
TEE
1 =
TEE
1 =
TEE
1 oV
el = 1 570,900 | #E{ K OB F
1 =
TR FLEAZE
1 =
FaKE (R 7 ER)
1 =
5% 2V 1 690, 700 | EHHIER
1 =
TR A @ 2V 1 202,122 | icte (GREF L - A1)
1 =
i T Py =X 1 66, 114 | Jifi T4 B
1 =
AR R S L 12,938, 912
SEE =X 1 8, 441, 088
IR =X 1 8, 441, 088

-4 - E Ly Est B R



PR E

Tl
P

L | KENELE R R A S Eg A
H A — A EEE
THAH - LfE - fE5 =RV & & A AOBN RR
— AR =X 1 21, 380, 000
AT S A = 1 788, 496
BEHEERE G2V 1 788, 496
AT S A = 1 788, 496 | fEATEERA
1 =
438 G2V 1 289, 800
Hejm G2V 1 289, 800
e = 1 289, 800 | ¥TAH
1 =
B (2 oMFEAmER<) = 1 1,078, 296
& DAt AT =X 1 580, 662
— A =X 1 891, 042
AT A SR =X 1 2, 550, 000
A S =X 1 23, 930, 000

-5 - E Ly Est B R

]



